4.1-4.3 Review

Solve each system by graphing.
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Solve each system using substitution.
4 x—=T7y=-5 3x=Ty=-5 x—-2y=-6
" 2x+14y=5 " y=6x+23 T —Ax+6y=20
7. An airplane is traveling along the line x — y = —1 when it sees another airplane traveling along the line 5x + 3y = 19.

Name

If they continue along the same lines, at what point will their flight paths cross? (Use any method)



Solve each system using elimination.
-3x+5y=2 5 -10x-9y =18 x-3y=1
T3x-y=2 " Sx+10y=-20 " 2x+6y=2
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11. Beth is deciding between twop-phone plans. Verizon charges $l? pex month plus
charges $20 per fhongh but only charges 5 centg per ¥ext she sends/

a. Write a system o'l'f'equalio s to repjresent the monthly cost of aach plan.

b. S¢lve the system yising any méthod you prefer.

12. Paul and Heather are selling fruit for a school fundraiser. Customers can buy boxes of apples, and boxes of pears. Paul
sold 10 boxes of apples and 9 boxes of pears for a total of $312. Heather sold 1 box of apples, and 3 boxes of pears fora
total of $69. Find the cost of a box of apples, and a box of pears.
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Solve each system using substitution,
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7. An airplane is traveling along the line x — y = —1 when it sees another airplane traveling along the line 5x + 3y = 19.

If they continue along the same lines, at what point will their flight paths cross? (Use any method)
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Solve each system using elimination.
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11. Beth is deciding B¥tween two phone plans. Verizon charges $15 per-menth-phus 10 cents per text she sgndls. AT&T
chafges $20 pessnehtl] but only charges 5 cents per toxt she sends. 10 Sow
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a. \“-\)?:t g) stem ofequons to represent fhe monthly cost of each plan.
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b. Sofve the system usfng any methog you |prefer.
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12. Paul and Heather are selling fruit for\& school fundraiser. Customers can buy boxes of apples, and boxes of pears. Paul
sold 10 boxes of apples and 9 boxes of pears for a total of $312. Heather sold 1 box of apples, and 3 boxes of pears fora
total of $69. Find the cost of a box of apples, and a box of pears.
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